CONTRACT NG. 62896

FE o | conry (TS
55 |99 (1&2) WRS-1 WILL 227 165A
I1-55 MAINLINE END AREAS I-55 MAINLINE END AREAS CON'T STA. 0 STA.
FED. ROAD DIST. NO. {ILLINOIS! FED. AID PROJECT

594+66.%3 STAGE 1: EXC = 0 UM = ¢} EMBK = 0 STACE 2: EXC = 4 UM = 6] EMBK = 4

595+00.00 STACE 1: EXC = 0 UM = 0 EMBK = 0 STAGE 2: EXC = 4 UM = 0 EMBK = 4 T42+00.00 STAGE 1t EXC = 22 Um = 16 EMBK = 11 STAGE 2: EXC = 0 UM = 0 EMBK = 0

596+00.00 STAGE 1: EXC = 0 UM= 0 EMBK = 0 STAGE 22 EXC = 4 UM = 0 EMBK = 4 T43+00.00 STAGE 1;  EXC= 22 UM= 16 EMBK= 1 STAGE 23 EXC = 0 UM= 0 EMBK = 0

597+00.00 STAGE 1: EXC = 0 UM 0 EMBK = 0 STAGE 2: EXC = 5 UM = 4 EMBK = 8 74440000 STACGE 1: EXC= 22 UM= 11  EMBK = 1 STAGE 2: EXC = 0 UM= 0 EMBK = 0

598+00.00 STAGE 1:  EXC = 0 UM= 0  EMBK = 0 STAGE 2: EXC = 8 UM = 4 EMBK = 10 T45+00.00 STAGE 1:  EXC= 22 UM= 11  EMBK= 1 STAGE 2: EXC = 0 UM= 0  EMBK = 0

599400.00 STAGE 1:  EXC = 0 UM = 0 EMBK = 0 STAGE 23 EXC = 9 UM= 0O EMBK:= 9 T46+00.00 STAGE 1:, EXC= 21 UM= 11  EMBK = 2 STAGE 2: EXC = 0 UM= 0 EMBK = 0

600+00.00 STAGE 1+ EXC = 0 UM= 0 EMBK = 0 STAGE 23 EXC= 12 UM= 6 EMBK = 8 T47+400.00 STAGE 1z EXC= 22 UM= 17 EMBK = 10 STAGE 2: EXC = 0 UM= 0 EMBK = 0

601+00.00  STAGE 1:  EXC = 0 UM = 0 EMBK = 0 STAGE 2: EXC = 23 UM= 13 EMBK = 10 748+00.,00 STAGE Iz EXC= 21 UM = 16 EMBK = 9 STAGE 2: EXC = 0 UM = 0 EMBK = 0

602+00.00 STAGE 1: EXC = 0 UM = 0 EMBK = o} STAGE 2: EXC = 21 UM = 10 EMBK = 8 T49+4+00.00 STAGE {: EXC = 20 UM = 16 EMBK = 11 STAGE 2: EXC = 0 UM = 0 EMBK = 0

603+00.00 STAGE 1+  EXC = 0 UM = 0 EMBK = 0 STAGE 23 EXC = 19 UM = 6 EMBK = [ 750+00.00 STAGE 1:  EXC= 20 UM = 17 EMBK = 11 STAGE 2: EXC = 0 UM = 0 EMBK = 0

604+00.00 STAGE 1z EXC = 0 UM = 0 EMBK = 0 STAGE 2: EXC = 15 UM = 2 EMBK = 6 751+00.00  STAGE s EXC = 22 UM = 16 EMBK = 11 STAGE 2: EXC = 0 UM = 0  EMBK = 0

605+00.00 STAGE 1: EXC = 0 UM = 0 EMBK = 0 STAGE 2: EXC = 11 UM = 4 EMBK = 8 T51+75.00  STAGE 1z EXC = 42 UM = 0  EMBK = ¢} STAGE 2: EXC = 0 UM = 0 EMBK = 0

606+00.00 STAGE l:  EXC = O UM = 0 EMBK = ¢} STAGE 2: EXC = g UM = 5 EMBK = 13

607+00.00 STAGE I: EXC = 0 UM = 0 EMBK = 0 STAGE 2: EXC = 5 UM = 0 EMBK = 3

607+96.69 STACE 1:  EXC = 0 UM= 0  EMBK = 0 STAGE 2: EXC = 0 UM= 0 EMBK:= 0]

641+00.00 STAGE 1: EXC= 63 UM = 16 EMBK = 0 STAGE 2: EXC = 0 UM = 0 EMBK = 0

642+00.00 STAGE 1: EXC= 24 UM = 16 EMBK = 1 STAGE 2 EXC = 0 UM = 0 EMBK = 0

642+75.00 STAGE 1= EXC = 61 UM = 13 EMBK = 0 STACE 22 EXC = 0 UM = 0 EMBK = 0

643400.00 STAGE 1: EXC= 24 UM= 15 EMBK= 15 STAGE 22 EXC= 0 UM= 0 EMBK= O US 30 NORTHBOUND ENTRANCE TO I-55 END AREAS

644400.00 STACE1: EXC= 18 UM= 16 EMBK= 16 STAGE 2: EXC = 0 UM= 0 EMBK= 0

645+00.00 STAGE &= EXC= 19 UM= 16 EMBK= 11 STAGE 2 EXC= O UM= 0 EMBK= O 5240000  STAGE 2: EXC= 11 UM= 9 EMBK= 1 STAGE 2A: EXC= 10 UM= 10 EMBK= O

©46+00.00 STAGE I: EXC= 23 UM= 16 EMBK = T STAGE 2: EXC = O UuUM= 0 EMBK= O 5245000 STAGE 2 EXC= 8 UM= 9 EMBK= 2 STAGE 2A: EXC= 15 UM= 9 EMBK= 1

647+00.00 STAGE I: EXC= 24 UM= 16 EMBK= 6 STAGE 2:  EXC= 0 UM= 0 EMBK= 0 5340000  STAGE 2: EXC= 9 UM= 14 EMBK= 6 STAGE 2A: EXC= 13 UM= 8 EMBK= 2

648+00.00 STAGE 1: EXC= 24 UM= 11 EMBK= O STAGE 2  EXC= O UM= 0 EMBK= 0O 5345000 STAGE 2: EXC= 6 UM= 1T EMBK = 24 STAGE 2A: EXC= 7 UM= 8 EMBK= 4

649400.00 STAGE I+ EXC= 25 UM= 11 EMBK =0 STAGE 2:  EXC= 0 UM= 0O EMBK= 0 54+0000  STAGE 2z EXC= 2 UM= 11 EMBK= 13 STAGE 2A: EXC= 38 UM= 8 EMBK= 2

650+00.00 STAGE I: EXC= 21 UM= 10 EMBK = 1 STAGE 2: EXC = 0O UM= 0 EMBK= O 54+5000 STAGE 2: EXC = O UM= 13 EMBK = 23 STAGE 2A: EXC= 35 UM= 6 EMBK= 4

651+00.00  STAGE I:  EXC= 23 UM= 11 EMBK= 0 STAGE 2:  EXC= 0 M= 0 EMBK= 0 5540000  STAGE 2s EXC= 1 UM= 14 EMBK= 30 STAGE 2A: EXC= 32 UM= 6 EMBK= 4

652+00.00 STAGL 1:  EXC= 27 UM= 12 EMBK= O STAGE 2z EXC= 0 UM= 0O EMBK= 0 5545000  STAGE 2: EXC= 1 UM= 14 EMBK= 25 STAGE 2A: EXC = 33 UM= 5 EMBK= 4

653+00.00 STAGE 1: EXC= 25 UM= 12 EMBK = 0 STAGE 2: EXC = 0 UM= 0 EMBK= Q 5640000 STAGE 2: EXC= 4 UM= 13 EMBK = 12 STAGE 2A: EXC= 18 UM= 8 EMBK= 3

654+00.00 STAGE 1: EXC= 24 UM= 12 EMBK = 0 STAGE 2:¢ EXC = 0 uWw= 0 EMBK= O 56+5000 STAGE 2: EXC= 5 UM= 11  EMBK= 9 STAGE 2A: EXC= 5 UM= O EMBK= 2

655+00.00 STAGE 1:  EXC= 23 UM= 11 EMBK= 0 STAGE 22 EXC = 0O UWwMm= 0 EMBK= O 5740000 STAGE 2: EXC = & UM= 11 EMBK= 8 STAGE 2A: EXC= O UM= 0O EMBK= 2

656+00.00 STAGE I: EXC= 22 UM= 11 EMBK=" 0 STAGE 2:  EXC= O UM= 0 EMBK= 0 57+5000  STAGE 2: EXC= 6 UM= 10 EMBK= 10 STAGE 2A: EXC= 0 UM= O EMBK= 28

657+00.00 STAGE 1:  EXC= 23 UM 11 EMBK = 0 STAGE 2¢ EXC = 0O UM= 0 EMBK= 0

658+00.00 STAGE 1: EXC= 24 UM = 11 EMBK = 0 STAGE 2: EXC = 0 UM = 0 EMBK = s}

659+00.00 STAGE 1+ EXC= 24 UM= 12 EMBK:= 0 STAGE 2: EXC = 0 UM= O EMBK= O -

660+00.00 STAGE 1: EXC = 26 UM = 12 EMBK = 0 STAGE 2¢ EXC = 0 UM = ¢} EMBK = 0 US 30 SOUTHBOUND EXIT FROM I-55 END_AREAS

661+00. ) H = = EMBK = TA H -XC = 0 = 0 EMBK = 0

6212+%%C§) g{ﬁgg %: gig = gg Bm = ﬁ EMBK = 8 gTAgE g Exg = 0 Bu = 0 EMBK = 0 151045000 STAGE 2: EXC = 12 UM = 10 EMBK = O STAGE 2A: EXC = 29 UM = 11 EMBK = O

663400.00 STAGE 1: EXC = 24 UM = 11 EMBK = 0 STAGE 2: EXC = 0 UM = 0 EMBK = s} 1511+00.00 STAGE 2: EXC= 9 UM = 12 EMBK = 1 STAGE 2A: EXC = {13 UM = 10 EMBK = O

664+00.00 STAGE 1+ EXC= 23 UM= 11  EMBK:= 0 STAGE 2: EXC = 0 UM= 0 EMBK= 0 151145000 STAGE 2z EXC = 7 UM= 14 EMBK = 14 STAGE 2A; EXC= 53 UM= 10 EMBK= 0

665+00.00 STAGE 1: EXC = 23 UM = 11 EMBK = 0 STAGE 2: EXC = 0 UM = 0 EMBK = 0 1512+0000 STAGE 2: EXC = 5 UM = 16 EMBK = ?4 STAGE 2A: EXC = 56 UM = 9 EMBK = 0

666+00.00 STAGE 1 EXC = 25 UM = 1 EMBK = 0 STAGE 2: EXC = 0 UM = 0 EMBK = 0 151245000 STAGE 2: EXC = 2 UM = 18 EMBK = 38 STAGE 2A: EXC = 57 UM= 9 EMBK = O

66740000 STAGE 1:  EXC = 23 UM = 10 EMBK = 1 STAGE 2: EXC = 0 UM = 0 EMBK = 0 1513+0Q.00 STAGE 2: EXC = 2 UM = 21 EMBK = 59 STAGE 2A: EXC = 55 UM= 8 EMBK = 0

668400.00 STAGE 1:  EXC = 19 UM = 11 EMBK = 4 STAGE 2: EXC = 0 UM = 0 EMBK = 0 1513+5000 STAGE 2: EXC = 1 UM = 20 EMBK = 64 STAGE 2A: EXC = 44 M= 3 EMBK = 1

BER+20.00 STAGE 1:  EXC= 19 UM = 12 EMBK = 5 STAGE 2: EXC = 0 UM = 0 EMBK = 0 1514+00.00 STAGE 2: EXC = 3 UM = 11 EMBK = 15 STAGE 2A: EXC = 24 UM= 8 EMBK = 1

669+00.00 STAGE 1: EXC= 20 UM= 11 EMBK= 2 STAGE 2: EXC = 0O UM= 0 EMBK= O 151445000 S_TA(%@ 23 EXQ = 5 UM= 9 EMBK= & STAGE 2A: EXC= 2 UM= 0 EMBK= 2

670+00.00 STAGE 1: EXC= 21 UM = 10 EMBK = 0 STAGE 2: EXC = 0 UM = 0 EMBK = 0 1515+0000 STAGE 2: EXC = 9 UM= 0 EMBK = 3 STAGE 2A: EXC = 1 M= 0 EMBK = O

671+00.00 STAGE 1: EXC = 21 UM = 1 EMBK = 1 STAGE 2: EXC = 0 UM = 0 EMBK = ¢]

672+00.00 STAGE 1z EXC = 21 UM = 10 EMBK = 0 STAGE 2: EXC = 0 UM = 0 EMBK = 0

673+00.00 STAGE 1: EXC = 21 UM = 10 EMBK = 1 STAGE 2: EXC = 0 UM = 0 EMBK = 0

674+00.00 STAGE 1: EXC= 23 UM = 11 EMBK = o} STAGE 2: EXC = 0 UM = 0 EMBK = 0

675+00.00 STAGE 1z EXC= 23 UM = 11 EMBK = 0 STAGE 2: EXC = 0 UM = 0 EMBK = o]

676+00.00 STAGE 1: EXC = 21 UM = 11 EMBK = 0 STAGE 2: EXC = 0 UM = o} EMBK = 0]

677+00.00 STAGE 1: EXC= 23 UM = 11 EMBK = 0 STAGE 2 EXC = 0 UM = 0 EMBK = 0

678+00.00 STACE 1: EXC= 20 UM= 11  EMBK = 0 STAGE 2: EXC = 0 W= 0 EMBK= O

679+00.00 STAGE Iz EXC= 20 UM = 10 EMBK = 1 STAGE 2: EXC = 0 UM = 6] EMBK = 0

680-+00.00 STAGE 1: = EXC = 22 UM = 10 EMBK = 1 STAGE 2: EXC = 0 UM = ¢} EMBK = 0

681+00.00 STAGE 1+ EXC= 23 UM= 12 EMBK = 0 STAGE 2: EXC = 0 U= 0 EMBK:= 0

©682+00.00 STACE 1+ EXC= 21 UM= 11  EMBK = 0 STAGE 2: EXC = 0 UM= 0O EMBK= 0

683+00.00 STAGE 1: EXC= 21 UM= 12 EMBK = 0 STAGE 2: EXC = 0 UM= 0 EMBK= 0

684+00.00 STAGE 1z EXC= 35 UM= 16 EMBK = 0 STAGE 2: EXC = 0 UM= 0 EMBK= 0

685+00.00 STAGE 1z EXC= 22 UM = 13 EMBK = 0 STACE 2: EXC = 0 UM = 0 EMBK = 0

686+00.00 STAGE 1: EXC = 25 Um= 13 EMBK = 0 STAGE 2: EXC = 0 UM = 0 EMBK = 0

687+00.00 STAGE 1: EXC = 29 UM = 14 EMBK = ¢} STAGE 2: EXC = 0 UM = o] EMBK = 0

688+00.00 STAGE 1: EXC= 25 UM = 14 EMBK = 0 STAGE 2: EXC = o] UM = 0 EMBK = 0

689+00.00 STAGE 1: EXC = 20 Um = 11 EMBK = ¢} STAGE 2: EXC = 0 UM = 0 EMBK = 0

690+00.00 STAGE 1z EXC= 24 UM = 10 EMBK = 6] STAGE 2: EXC = 0 UM = 0 EMBK = 0

631+00.00 STAGE 1: EXC= 24 UM = 10 EMBK = ] STAGE 2: EXC = 0 UM = 0 EMBK = 0

692+00.00 STAGE 1: EXC = 23 UM = 11 EMBK = o] STAGE 2: EXC = 0 Um = o] EMBK = 0

693+00.00 STAGE 1: EXC= 21 UM= 10 EMBKS= 0 STAGE 2: EXC = 0O UuUM= 0 EMBK:= 0

693+80.00 STAGE 1 EXC= 23 UM = 16 EMBK = 8 STAGE 2: EXC = 0 UM = 0 EMBK = 0

694+00.00 STAGE 1z EXC= 20 UM = 16 EMBK = 8 STAGE 2: EXC = 0 UM = 0 EMBK = 0

695+00.00 STAGE i: EXC = 18 UM = 16 EMBK = 11 STAGE 2: EXC = 0 UM = 0 EMBK = 0

696+00.00 STAGE 1: EXC = 19 UM = 16 EMBK = 10 STAGE 2: EXC = o] UM = 0 EMBK = 0

697+00.00 STAGE 1: EXC= 20 UM= 16 EMBK= 12 STAGE 2:  EXC = 0 UM= 0 EMBK:= 0

698+00.00 STACE 1z EXC= 20 UM = 1o EMBK = 7 STAGE 2: EXC = 0 UM = 0 EMBK = 0

699+00.00 STAGE 1: EXC = 18 UM = 16 EMBK = 12 STAGE 23 EXC = 0 UM = 0 EMBK = 0 NOTE:

700+00.00 STAGE 1:  EXC = 60 UM = 1 EMBK = 0 STAGE 2: EXC = 0 UM = 0 EMBK = 0 —

722+00,00 STACE 1z EXC= 86 UM= 0 EMBK = 0 STAGE 2: EXC = 0 uUM= 0 EMBK= 0 END AREAS SHOWN SUPERCEDE END AREAS SHOWN ON CROSS SECTIONS

72340000 STAGE 1:  EXC= 22 UM= 16 EMBK= 10 STAGE 2: EXC = 0O UM= 0 EMBK:= 0

724+00.00 STAGE & EXC= 22 UM= 16 EMBK= 12 STAGE 2:  EXC = 0 UM= 0O EMBK= 0

725+00.00 STAGE 1z EXC= 23 UM = 16 EMBK = 1 STAGE 2: EXC = 0 UM = 0] EMBK = 0

726+00.00 STAGE 1: EXC = 24 UM = 16 EMBK = 8 STAGE 2z EXC = 0 UM = 0] EMBK = 0

726+75.00 STAGE 1: EXC = 23 UM = 16 EMBK = 16 STAGE 2: EXC = 0 UM = 0 EMBK = 0

727+00.,00 STAGE 1: EXC= 24 UM= 16 EMBK= 10 STAGE 2: EXC = 0 UM= 0O EMBK= 0

7128+00.00 STAGE 1z EXC = 27 UM = 16 EMBK = 5 STAGE 2 EXC = 0 UM = (¢} EMBK = 0

729+00.00 STAGE 1+ EXC= 26 UM= 11 EMBK = 0 STACE 2: EXC = 0 UM= 0 EMBK:= 0

T30+00.00 STAGE 1z EXC= 27 UM= 11  EMBK = o] STAGE 2: EXC = 0 UM= 0 EMBK= O

731+00.00 STAGE I: EXC= 24 UM= 11 EMBK= O STAGE2: EXC= O UM= 0O EMBK= O REVISIONS ILLINOIS DEPARTMENT OF TRANSPORTATION

732+00.00 STAGE 1z EXC= 21 UM= 10 EMBK= 1 STAGE 2:  EXC= 0 UM= 0O EMBK= O NAME DATE

733+00.00 STAGE I: EXC= 21 UM= 10 EMBK= 1 STAGE2: EXC= 0 UM= 0O EMBK= O FAI ROUTE 55

734+00.00 STAGE &: EXC= 20 UM= 10 EMBK = 1 STAGE 22 EXC= 0 UM= O EMBK= 0 US 30 (PLAINFIELD ROAD) TO 143RD STREET

735-+00.00 STAGE 1: EXC = 22 UM = 10 EMBK = 1 STAGE 2: EXC = 0 UM = [¢] EMBK = 0

736+00.00 STAGE 1z EXC= 22 UM = 10 EMBK = 1 STAGE 2: EXC = 0 UM = [¢] EMBK = 0

737+00.00 STAGE 1:  EXC= 21 UM= 10 EMBK = 1 STAGE 2:  EXC= O UM= 0 EMBK= 0 EARTHWORK SCHEDULE

738+00.00 STAGE 1z EXC = 24 UM = 11 EMBK = 1 STAGE 2: EXC = 6] UM = 0] EMBK = 0 CROSS SECTION END AREAS

739+00.00 STAGE Ir EXC= 24 UM= 11 EMBK= O STAGE 2: EXC= O UM= 0O EMBK= O = PARSONS

740+00.00 STAGE 1: EXC = 22 UM = 11 EMBK = 1 STAGE 2: EXC = 6] UM = 0] EMBK = O .

741400.00 STAGE I: EXC= 21 UM= 16 EMBK= 13 STAGE2: EXC= O UM= O EMBK= O = BRINCKERHOFF SCALE: DRAWN BY MGH
22 DATE: 02-23-07 CHECKED BY RMH

FINAL




